Dr. Mangesh

MBBS, MD.

Super Speciality Hospital

Your Trust. Our Service

OPD Prescription

UHID No.

: 3692

Patient Name : Vandana Kumari

Address

: Rambag, chauri, Muz.

B.P.

Pulse:

OPD No.

:2198

Date

: 01/08/2025

Age / Sex

: 07 days/ F

Temp:

Weight:

Satyam Super Speciality Hospital

Unit of Satyam Medical Care Pvt. Ltd.

Maripur (Opp. Satyam Paramedical College & Research) Muzaffarpur-842001, Bihar

Email: satyam_hospital@yahoo.com

Mob.:

स्रोता में, महर जेंद्रीन

महात्राया, मम निर्वेदन है भी मैरी बेटी बंदना कुमारी जी की अभी मात्र ०त दीन की ही है। जो का जोकीर बीमारी भी पुझ रही है, जो की इसका जन्मजात है। डॉम्बर् का फहता है की वशको वें क्ट्रीयल बंदिनसम धेसे बुरगर्, सुरमी मास लेने मे आस्विक महिनाई माथ ही और भी हिनम्ब है डान्स् का कहना है की इसका इलाज जलद से जिल्ह अवन मरना होगा नहीं तो इसका बचना मुहिनल है। डॉक्टर का कहला है की इसका अन्यत अलाप हेनु मेर्रा. २४०१ - १वपम की एकमें आएजी और लाजाना 14 दीन तक दा समय लगेगा। अल्येर गरीबी से जुझ रहे परिवार के लिए यह बहुत ही बरा रक्म है। भेरे पार इंट के अहा में लेवर का काम करते है और भे अपने धर का देखवाल जाती है। अतः अमान से मेरी नम निवेदन हैं भी मेरी आश्रीन एनं दीकिया स्थिति की देखते हुए मेरी आश्रीक मध्य बर्ते का क्या क्टर करें इसके िलए में अमान का सहा आमारी रहेंगी।

Quel arkalas

अगपमा विश्वादी

Attn: Mother Concern

Fund Support Requisition for Economically Weaker Section

Reference No.

UHID: 3692

OPD NO. 2198

DATE: 01/08/2025

PROFORMA INVOICE/FUND REQUISITION REPORT	2 200
Satyam Super Speciality Hospital (A unit of Satyam medical care Pvt. Ltd.)	
Opp. Satyam Paramedical College And Research	
Maripur, Muzaffarpur, - 842001, Bihar	

Patient Name:	Vandana Kumari		
Sex:	Female		
Mother's Name:	Pooja Kumari		
Address:	Rambag, Chauri, Muzaffarpur.		
Diagnosis:	Severe bacterial infection affecting the		
	bloodstream, tissues and other organs.		
Date of Admission:	01 th /Aug/2025		

Overall Analysis: - Vandana Kumari, was brought to the hospital in the morning hours of 01th Aug. 2025 in a critical condition by her parents. The condition of the kid is critical. Patient has Suffering from symptoms related to Neonatal sepsis, kid has fever, lethargy, breathing difficulties and can be fatal without prompt treatment with antibiotics. The kid has been admitted in NICU with 24 x 7 observation of concerned doctors and necessary treatment has been initiated. There conditions can be severe and require urgent medical attention to address the deficiencies and other complications, regular assessment and check up is required. The patient comes from a financially weaker section, Kid's father is a worker at brick manufacturing factory and mother a house wife who can't take care of the medical expense, so they need financial help of approx Rs. 1,11,240/- For almost 14 days of treatment. Please provide financial support for the same.

Estimated Fund required during Hospital Stay and Overall Treatment.

S.No.	Element	Unit	Rate (INR)	Price (INR)
1	NICU	14	3000.00	42000.00
2	Nursing	14	800.00	11200.00
3	Visit	14	1000.00	14000.00
4	Procedure	1	5000.00	5000.00
5	Medicine	14	660.00	9240.00
6	RBS	14	100.00	1400.00
7	Oxygen	239	100.00	23900.00
8	Warmer	09	500.00	4500.00
	THE RESERVE OF THE PARTY OF THE	A STRUCK		1,11,240.00

Auf Sijos or

